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QUESTION 1

A DBA wants to create a set of tables in a storage group named SG_1, but no table spaces have been assigned to this
group. What kind of table spaces must the DBA assign to the storage group before the desired tables can be created? 

A. Automatic storage (AS) table spaces 

B. System managed space (SMS) table spaces 

C. Database managed space (DMS) table spaces that use FILE containers 

D. Database managed space (DMS) table spaces that use RAW containers 

Correct Answer: A 

 

QUESTION 2

Which Workload Manager (WLM) objects can the COLLECT ACTIVITY DATA clause be used with? 

A. Data class, work class, and a limit 

B. Data class, action class, and a threshold 

C. Service subclass, action class, and a limit 

D. Service subclass, work class, and a threshold 

Correct Answer: D 

 

QUESTION 3

What will occur when a database administrator adds a new automatic storage path to an existing storage group? 

A. New table spaces will start consuming storage on the new path. 

B. Existing table spaces will not consume storage on the new path. 

C. The storage group will be placed in "Rebalance Pending" mode. 

D. DB2 will verify that space is available on the storage path specified. 

Correct Answer: B 

 

QUESTION 4

Given the following database design: 
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A Explain plan shows that a broadcast join is being used by a query that joins the DATE_DIM dimension table and the
SALES fact table. Which action should be performed to improve query performance? 

A. Create a replicated summary table for the SALES table using the table space TS_REPL. 

B. Create a replicated summary table for the DATE_DIM table using the table space TS_REPL. 

C. Create an index on both the DATE_DIM and the SALES table for the column that is used in the collocated join. 

D. Create a replicated summary table for the SALES table using the table space TS_DIM and create an index on the
DATE_DIM table. 

Correct Answer: B 

 

QUESTION 5

A table space creation operation was unsuccessful because DB2 failed to allocate a container in a path. Which
diagnostic tool can be used to help resolve the problem? 

A. db2dart 

B. db2diag 

C. db2caem 

D. db2fmcu 

Correct Answer: B 
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